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Cecily has 377 pennies, 36 nickels, 16 dimes, and 12 quarters. 
How many coins does she have in all?

Name: 

Daily Word Problem

Show your work.

C-11 Addition &  
Subtraction

Single- 
Step

answer: ____________________
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Kay has 23 crayons.  
She gave a dozen crayons to her friend.
Then she bought a box with 24 more crayons.
How many crayons does Kay have now?

Name: 

Daily Word Problem

Show your work.

C-12 Addition &  
Subtraction

Multi- 
Step

answer: ____________________
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There are 6 golf balls in a box.
How many golf balls are in 5 boxes?

Name: 

Daily Word Problem

Show your work.

C-13 Multiplication 
& Division

Single- 
Step

answer: ____________________
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Name: 

Daily Word Problem

C-14 Addition, Subtraction, 
Multiplication

Multi- 
Step

SALE TODAY!
All T-shirts $3 Off

Dave sees a t-shirt with a price tag that says $13.
A sign above the rack says:

How much would 3 t-shirts cost?

Show your work.

answer: ____________________
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It takes Devin exactly 26 minutes to walk from her house  
to the park.
How long would it take her to walk to the park and back 
home?

Name: 

Daily Word Problem

Show your work.

C-15 Addition & 
Subtraction

Single- 
Step

answer: ____________________



ANSWERS

Daily Word Problem

C-11 through C-15
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Cecily has 377 pennies, 36 nickels, 16 dimes, and 12 quarters. 
How many coins does she have in all?

Show your work.

answer: ____________________

Kay has 23 crayons.  
She gave a dozen crayons to her friend.
Then she bought a box with 24 more crayons.
How many crayons does Kay have now?

Show your work.

answer: ____________________

There are 6 golf balls in a box.
How many gold balls are in 5 boxes?

Show your work.

answer: ____________________

SALE TODAY!
All t-shirts $3 Off

Dave sees a t-shirt with a price tag that says $13.
A sign above the rack says:

How much would 3 t-shirts cost?

Show your work.

answer: ____________________

It takes Devin exactly 26 minutes to walk from her house  
to the park.
How long would it take her to walk to the park and back 
home?

Show your work.

answer: ____________________

441 coins

$ 30 52 minutes

35 crayons 30 golf balls

377 + 36 + 16 + 12 = 441

11 + 24 = 35

26 + 26 = 52

10 x 3 = 30

6 x 5 = 30
23 -- 12 = 11

13 -- 3 = 10


